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#!/usr/bin/python3
# —k— coding: UTF-8 —%—
# zy6 js encode
# WIS TH, AT LAE Y
zy6_BLOCK_SIZE = int (384 / 8)
m zy64 = [63, 0, 34, 17, 58, 23, 16, 2, 59, 55, 56, 7, 47, 61, 8, 4, 38, 25, 48, 3, 37, 41, 1, 32
57, 33, 30, 18, 45, 14,
28, 15, 60, 5, 40, 43, 53, 10, 20, 49, 35, 62, 31, 6, 24, 22, 26, 46, 29, 36, 9, 11, 52
13, 27, 54, 19, 50, 51, 12, 42, 21]

class zy_ st CLASS:
def init_ (self):

self.m tot len = 0

self.m len = 0

self.m zy c 64 = []

for i in range(len(m zy64)):

self.m zy c_64. append(m_zy64[i])

# self.m zy c 64 = [63, 0, 34, 17, 58, 23, 16, 2, 59, 55, 56, 7, 47, 61, 8, 4, 38, 25, 48
37, 41, 1, 32, 39, 57, 33, 30, 18, 45, 14,

# 28, 15, 60, 5, 40, 43, 53, 10, 20, 49, 35, 62, 31, 6, 24, 22, 26, 46, 29, 36, 9, 11,
44, 13, 27, 54, 19, 50, 51, 12, 42, 21]

self.m_block = [0]*(2 * zy6_BLOCK_SIZE)

self.m zy p = [0]*64

# BT
def memcpy(s, k, d, m, 1i):
slk:k+i] = d[m:m+i]

# SCHlchar ZR/F 3] 6 bitHEH
def To64(c, d):

# for i in range(zy6 BLOCK SIZE):
# if c[i]. isalpha():

# cli] = ord(c[i])
for i in range(int(zy6 BLOCK SIZE/3)):
m=1i*3
d. append(c[m] >> 2)
d. append (((c[m] & 0x3) << 4) + (clm + 1] >> 4))
d. append (((c[m + 1] & 0xf) << 2) + (c[m + 2] >> 6))

d. append(c[m + 2] & 0x3f)
return d

def update(z_st, message, len):
tmp len = zy6 BLOCK SIZE — z st.m len
rem len = len if len < tmp_len else tmp len

memcpy (z st.m block, z st.m len, message, 0, rem len)
if z st.m len + len < zy6 BLOCK SIZE:

z_st.m_len += len

return

new len = len — rem len
block nb = int(new len / zy6 BLOCK SIZE)
shifted message = [0]*(len — rem_len)
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memepy (shifted message, 0, message, rem len, len—rem len)
transform(z st, z st.m block, 1)

transform(z_st, shifted message, block nb)

rem len = new len % zy6 BLOCK SIZE

memepy (z_st.m block, 0, shifted message
block nb * zy6 BLOCK SIZE, rem len)
z st.m len = rem len
z_st.m _tot_len += (block nb + 1) * zy6 BLOCK SIZE

def final (z_st):
block nb = (1 + ((zy6 BLOCK SIZE - 9) < (z_st.m len % zy6 BLOCK SIZE)))
pm_len = block nb * zy6 BLOCK SIZE
for i in range(z st.m len, zy6 BLOCK SIZE * 2):
z_st.m_block[i] = 0

z_st.m block[z st.m len] = 0x80
transform(z_st, z_st.m block, block nb)
pt =0

for i in range (64) :
z_st.m_zy c 64[pt] = (z_st.m zy c 64[i] + z st.m zy c 64[pt]) % 64
pt = m_zy64[pt]
z st.m_zy c 64[pt] = (z_st.m zy c 64[i] + z st.m zy c 64[pt]) % 64
pt = m zy64[pt]
z st.m zy c 64[pt] = (z_st.m zy c 64[i] + z st.m zy c 64[pt]) % 64
pt = m_zy64[pt]
z st.m zy c 64[pt] = (z_st.m zy c 64[i] + z st.m zy c 64[pt]) % 64
pt = m_zy64[pt]

def transform(z_st, message, block nb):

sub_block = [0]*96

pt =0

for i in range(block nb) :
memepy (sub_block, 0, message, i * zy6 BLOCK SIZE, zy6 BLOCK_ SIZE)
d=1[]
# ZH 64 £
To64 (sub_block, d)
for ti in range(int ((zy6 BLOCK SIZE * 4) / 3)):

if d[ti] > 0:
pt = ti

z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt] + d[ti]) % 64
pt = m_zy64[pt]

z st.m zy ¢ 64[pt] = (z st.m zy c 64[pt] + d[ti]) % 64
pt = m_zy64[pt]
z st.m zy c 64[pt]
pt = m_zy64[pt]

(z st.m zy c 64[pt] + d[ti]) % 64

z st.m zy c 64[pt] = (z st.m zy c 64[pt] + d[ti]) % 64

pt = d[ti]

+

z st.m_zy c_64[pt] = (z_st.m zy c 64[pt] + m _zy64[pt]) % 64
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pt = m zy64[pt]
7z st.m zy c 64[pt] = (z st.m zy c 64[pt] + m zy64[pt]) % 64
pt = m zy64[pt]

z st.m_zy c 64[pt] = (z_st.m zy c 64[pt] + m zy64[pt]) % 64
pt = m zy64[pt]

z st.m_zy c_64[pt]

(z_st.m zy _c 64[pt] + m_zy64[pt]) % 64

# A

def Tostring64(m zy6 st):
letters = 70123456789abcdefghi jklmnopqrstuvwxyzABCDEFGHI JKLMNOPQRSTUVWXYZ=-"
ss ="
for i in range (64) :
ss += letters[m zy6 st.m zy c 64[i]]

return ss

def Tostring64HEX (m zy6 st):
i=0
for i in range(int(64/4)):
m zy6 st.m zy plj * 3] = (m zy6 st.m zy c 64[i * 4]
<< 2) + (m zy6 st.m zy c 64[i * 4 + 1] >> 4)
m zy6 st.m zy plj * 3 + 1] = ((m_zy6 st.m zy c 64[i * 4 + 1] & 0xf)
K 4) + (m zy6 st.m zy c 64[1i * 4 + 2] >> 2)
m zy6 st.m zy plj * 3 + 2] = ((m_zy6 st.m zy c 64[i * 4 + 2] & 0x3)
< 6) +mzyb st.m zy c 64[i * 4 + 3]
j=Jt1

letters = 70123456789abcdef”

a5 = 77

for i in range(48) :
¢ =m zy6 st.m zy pli]
ss += letters[(c >> 4) & 0xf]
ss += letters[c & 0xf]

return ss

def Tostring64BG(m zy6 st):
letters ="

ad

ss =
for i in range (64):

ss += letters[m zy6 st.m zy p 64[i]]
return ss

# OB RS AN UTRS G tid (1) 7715
def writeUTF (str, isGetBytes):
back = []
byteSize = 0
for i in range(len(str)):
code = ord(str[i])
if 0x00 <= code and code <= 0x7f:
byteSize += 1
back. append (code)
elif 0x80 <= code and code <= Ox7ff:
byteSize += 2
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back. append ((192 | (31 & (code >> 6))))
back. append ((128 | (63 & code)))
elif (0x800 <= code and code <= 0xd7ff) or (0xe000 <= code and code <= Oxffff):
byteSize t= 3
back. append ((224 | (15 & (code >> 12))))
back. append ((128 | (63 & (code >> 6))))
back. append ((128 | (63 & code)))

for i in range(len(back)) :
back[i] &= Oxff

if isGetBytes:
return back

if byteSize <= O0xff:
return [0, byteSize]. extend (back)
else:
return [byteSize >> 8, byteSize & 0xff]. extend (back)

def updatestr (m zy6_st, str):
gstr = writeUTF(str, 1)
return update(m zy6 st, gstr, len(gstr))

def Zy6String(ss):
zy_st = zy_st_CLASS()
updatestr (zy st, ss)
final (zy_st)
return Tostring64(zy st)

def Zy6StringHEX (ss):
zy_stl = zy st CLASS()
updatestr (zy stl, ss)
final (zy_stl)
return Tostring64HEX (zy stl)

test_ss = input()

print (Zy6String (test ss))
print (Zy6StringHEX (test_ss))
fitest_ss = 28 HT? .
#tprint (Zy6String (test ss))
#tprint (Zy6StringHEX (test_ss))
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